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import sys

sys.path.append("statlib")

from exact import permutation_test

permutation_test(x, y, FUNC, monte_carlo=False, loop=10000, verbose=True)
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van der Waerden #&7E

’x = [2, 1,



y = [4, 3, 2, 5, 4]

# van der Waerden &7
import numpy as np
from scipy.stats import norm, rankdata

def vdw2_test(x, y):
nl = len(x) # E—#HOYYTIY X
z = np.hstack((x, y)) # T—9RIV hILE—DIcEx L ®H 3
n=1len(z) # S ULEYYTILH A X
S = sum(norm.ppf((rankdata(z)[:nl1])/(n+1))) # E—HDF—F It T 3
EREBROEE

return S

import sys
sys.path.append("statlib")
from exact import permutation_test

a = permutation_test(x, y, vdw2_test)

Permutation test, using 'vdw2_test'
p value = 0.34127

3.2 tRE

import numpy as np

def t_test(x, y):
X = np.ravel(x)
y = np.ravel (y)
n_a len(x)
n_b len(x)
mean_a = np.mean(x)

mean_b = np.mean(y)

U_a = np.var(x, ddof=1)

U_b = np.var(y, ddof=1)

return (mean_a-mean_b)/np.sqrt(U_a/n_a+U_b/n_b)

b = permutation_test(x, y, t_test)

Permutation test, using 't_test'
p value = 0.37302

scipy.stats |25 2 ARG, HitRE p OO EEEFEOY TN ERTDOT, UTD LI AR
Yad—a— FEBEERL TRIUE L,

from scipy.stats import ttest_ind



def sugar(x, y):
return ttest_ind(x, y)[0]

print(ttest_ind(x, y))

Ttest_indResult(statistic=-1.178511301977579, pvalue=0.272455713973288)

print (sugar(x, y))

-1.178511301977579

d = permutation_test(x, y, sugar)

Permutation test, using 'sugar'
p value = 0.37302

3.3 Brunner-Munzel &

# Brunner-Munzel test

def bm2_test(x, y):
nl = len(x)
n2 = len(y)

r = rankdata(np.hstack((x, y)))
return (np.mean(r[nl:]) - (n2 + 1) / 2) / nl

x = [1,2,1,1,1,1,1,1,1,1,2,4,1,1]
y = [3,3,4,3,1,2,3,1,1,5,4]

np.random.seed(1234) # B OEBEORTE (EERBHLERRZ W)
e = permutation_test(x, y, bm2_test, monte_carlo=True, loop=20000)

Permutation test, using 'bm2_test', by 20000 times Monte Carlo simulations
p value = 0.00675

3.4 Mann-Whitney @ U &R7E

# Mann-Whitney U test
def mw2_test(x, y):
nl = len(x)
n2 = len(y)
r = rankdata(np.hstack((x, y)))
R2 = sum(r[nl:])
return nl * n2 + n2 * (n2 + 1) / 2 - R2
np.random.seed(1234) # A B O EORTE (BEERHERLHZ W)
f = permutation_test(x, y, mw2_test, monte_carlo=True, loop=20000)




Permutation test, using 'mw2_test', by 20000 times Monte Carlo simulations
p value = 0.00675



